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SECTION 1 
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 at 0=x  

To intersect exactly 3 times, gradient of ( )bxy 1tan−=  at 0=x  

must be greater than the gradient of axy =  for positive gradients, 
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Q12  The solution curves are of the form 1
2

2

2

2

±=−
b

y

a

x
. 

By implicit differentiation, 0
22

22
=×−

dx

dy

b

y

a

x
,  .: 

ya

xb

dx

dy
2

2

=  E 

 

Q13  At time t min., amount of salt Q= grams,  
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Q17  Three vectors on the same plane are always linearly 

dependent. a~ , c~  and d&&&  are on the same plane.  B 
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SECTION 2 
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